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1 100kN/m#E#BZ % - -~ - —|3mEEZD -~ - - —| 100kN/ Mm% % % — -~ - —|3m%EEZD -~ — - -
zhs 1.00| 0.00 ~ 6.42 80.83 | #n L4t | 000 ~ 6.42| 1.98 10.03 zh s 1.00| 500 ~ 8.50 80.83 | #h L4t | 5,00 ~ 850 | 1.98 10.03
2 100kN/mM#%#B x5 1.00| 000 ~ 1.89 129.06 |3m%EFkEZ S -~ — — —| 100kN/m%#8%%| 1.00 (1082 ~ 17.52 129.06 |3m%EF{EZ S -~ - — —
zhs 1.00| 1.89 ~ 9.67 100.00 | Zh st | 0.00 ~ 967 | 251 12.69 zh s 1.00 | 5.00 ~ 10.82 100.00 | Zh st | 500 ~ 1752 | 2.51 12.69
3 100kN/mM#%#B x5 1.00| 000 ~ 1.70 126.03 |3m%EF{EZ S -~ — — —| 100kN/m%#8%%| 1.00 [10.79 ~ 16.58 126.03 |3m%EF{EZ S -~ - — —
zhs 1.00] 1.70 ~ 948 100.00 | Z#hList | 000 ~ 948 | 2.50 12.66 zhs 1.00| 5.00 ~ 10.79 100.00 | Zh st | 500 ~ 16.58 | 2.50 12.66
4 100kN/m#E#BZ % - -~ - —|3m%EEZD -~ - - —| 100kN/ Mm% % % — -~ - —|3mEEZD -~ — - -
zh s 1.00| 000 ~ 745 95.15 | Zh st | 000 ~ 7.45| 1.83 9.23 zhs 1.00| 500 ~ 9.80 95.15 | Zhlist | 500 ~ 9.80| 1.83 9.23
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Th s ~ Zhst ~ Th s ~ Zhs ~
100kN/m#E#BZ % ~ 3ImEHEZD ~ 100kN/m#E#BZ % ~ 3ImEHEZD ~
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